
Cross table for Harmsworth Cup

Name Findley,
K

McGill,
P

Micklethwaite,
M

Sharples,
H

Carpenter,
C

Le
Baigue,

C
Cole, J McAloney,

R
Gregory,

C
Garfield,

L
Clarke,

J
Morris,

J Total

Findley, Keith
C x 0(w)

½(b) ½(b) ½(w) 1(b)1(w) 0(w)1(b) 1(b)1(w) 1(b)
½(w) 1(w) ½(b) 1(w) 1(w) 1(b) 1(b) 13½

McGill, Peter 1(b)
½(w) x ½(w)0(b) 1(b)1(w) 0(w)1(b) ½(b)1(w) 1(w)

½(b) 1(w) ½(b) 1(w) 1(b) 1(b) 1(b) 13½

Micklethwaite,
Michael H

½(w)
½(b) ½(b)1(w) x 1(w)0(b) 1(b)1(w) ½(w)1(b) 0(w)0(b) 1(b)1(w) 1(b) 0(w) 1(w) 1(w) 12

Sharples,
Harry J 0(w)0(b) 0(w)0(b) 0(b)1(w) x ½(w)1(b) 1(b)1(w) 1(w)1(b) 0(w) ½(b) 1(b) 1(b) 1(w) 1(b) 11

Carpenter,
Chris 1(b)0(w) 1(b)0(w) 0(w)0(b) ½(b)0(w) x 0(b)1(w) 1(b)0(w) 1(w) ½(b) 1(b) ½(w) ½(w) 1(w) 9

Le Baigue,
Clive J 0(w)0(b) ½(w)0(b) ½(b)0(w) 0(w)0(b) 1(w)0(b) x ½(w)1(b) 0(b)1(w) 1(b) 1(b) 1(b) 1(b) 8½

Cole, James 0(w)
½(b)

0(b)
½(w) 1(b)1(w) 0(b)0(w) 0(w)1(b) ½(b)0(w) x 1(b)1(w) 0(b) 0(w) 1(w) 1(w) 8½

McAloney,
Roy J

0(b)
½(w)

0(b)
½(w) 0(w)0(b) 1(b) ½(w) 0(b) ½(w) 1(w)0(b) 0(w)0(b) x 0(w) 1(w) 1(w) ½(b) 6½

Gregory, Colin
G 0(b) 0(b) 0(w) 0(w) 0(w) 0(w) 1(w) 1(b) x 0(b)0(w) 1(w)1(b) 1(w)1(b) 6

Garfield, Leon
A 0(b) 0(w) 1(b) 0(w) ½(b) 0(w) 1(b) 0(b) 1(w)1(b) x ½(w)0(b) 0(b)0(w) 5

Clarke, John L 0(w) 0(w) 0(b) 0(b) ½(b) 0(w) 0(b) 0(b) 0(b)0(w) ½(b)1(w) x 1(w)1(b) 4
Morris, Joseph 0(w) 0(w) 0(b) 0(w) 0(b) 0(w) 0(b) ½(w) 0(b)0(w) 1(w)1(b) 0(b)0(w) x 2½


